Chapter 8 Practice Exercises (Solutions at www.789adam.com)
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Convert 5 decades into minutes. Show your unit ratios.
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The scale on a model indicates that 1 inch equals 40 feet. A building in the model is 13.5 inches tall. How tall is the
building in real life?
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Your favorite clothing store, AquaPostal, is having a sale next weekend. All shoes will be 40% off. You've been saving for
a new pair of shoes. They cost $60, you have $40 saved up. Is that enough to buy them during the sale?
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If you have to pay an additional 8% sales tax, do you have enough for the shoes at AquaPostal?
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| have a canister that is labelled 40% nitrogen and another that is labelled 90% nitrogen. How many liters of each should
| mix to make 22 liters that matches the nitrogen content of Earth’s atmosphere (78% nitrogen)?
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Solve the absolute value inequalities. Draw a graph of the solution set. —n g
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Given the function j(a) = 3a + |24
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For the quadratic function, find the vertex; then
graph the parabola: y(x) = 2x? + 8x + 1

— a? + 7 find the following.
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A model rocket fires from the ground with an
upward velocity of 100 feet per second. How
high will it be at its highest point? When will it
land on the ground? When will it be 100 feet
above the ground?
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